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Bu testte 75 soru vardır.

 1 - 5: For these questions, choose the best word
or expression to fill the spaces in the passage.

1.

2.

3.

4.

5.

Diğer sayfaya geçiniz.1
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 6 - 8: Answer these questions according to the
passage below.

6.

7.

8.

Diğer sayfaya geçiniz.2
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 9 - 11: Answer these questions according to the
passage below.

9.

10.

11.

Diğer sayfaya geçiniz.3
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 12 - 14: Answer these questions according to the
passage below.

12.

13.

14.

Diğer sayfaya geçiniz.4
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 15 - 17: Answer these questions according to the
passage below.

15.

16.

17.

Diğer sayfaya geçiniz.5
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 18 - 20: Answer these questions according to the
passage below.

18.

19.

20.

Diğer sayfaya geçiniz.6
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21.

22.

 In which of the following sentences does ‘which’ not
function as a sentential relativizer?

In modern humans, males generally have larger noses
and nasal passages than females do, which may be
due to a higher oxygen demand.

Digital cameras can take an image of an object hidden
around the edge of a wall, which could help
autonomous cars detect hazards in blind spots.

As one of the largest gemstone dealers in the world,
the company buys more carats of helenite than any
other, which lets them give you a greater price.

A certain group of British researchers are now working
as freelance science journalists, delving into any
topics that capture their interest, which often lie in the
realm of life sciences.

Early advertising and marketing techniques were 
lacking established laws and codes of conduct, which
caused deceptive advertising practices to flourish
unchecked.

23.

A)

B)

C)

D)

E)

24.

Diğer sayfaya geçiniz.7

DOĞRU CEVAP: D 
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Which of the following sentences has an example of
euphemism?

This dessert can be served straight from the fridge.
(Fridge for the refrigerator)

The White House has issued a statement. (The White
House for the US President and his officials)

There were many well-known faces at the Wimbledon
Gentlemen's Final yesterday. (Faces for people)

NASA has made inflatable space habitats a priority.
(NASA for National Aeronautics and Space
Administration)

Effective interventions have reduced infant mortality
among the underprivileged in many Asian countries.
(The underprivileged for the poor)

25.

26.

A)

B)

C)

D)

E)

27.

28.

Diğer sayfaya geçiniz.8

DOĞRU CEVAP: E 
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29.

30.

31.

32.

Diğer sayfaya geçiniz.9
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33. 34.

Diğer sayfaya geçiniz.10
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35.

36.

Now (we) must praise the Keeper of Heaven's Kingdom,
The Maker's might, and His conception,
The deed of the Father of Glory; as He of all wonders
– The Eternal Lord – established the beginning.
He first created for the children of men
Heaven as a roof, the Holy Shaper;
Then Middle Earth (did) Mankind's Keeper,
The Eternal Lord, afterward ordain,
The earth of men, the Almighty Lord.

Above are the lines from Cædmon's poem, which is in
praise of a divine, venerated being.

 Which type of poetry is exemplified above?

Elegy Mock epic

Hymn Burlesque

Epistle

37.

A) B)

C) D)

E)

38.

Diğer sayfaya geçiniz.11

DOĞRU CEVAP: C 
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39.

40.

41.

42.

Diğer sayfaya geçiniz.12
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43. 44.

Diğer sayfaya geçiniz.13
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45. 46.

Diğer sayfaya geçiniz.14
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I. Task-based Language Teaching: Learning is seen
as a stimulus-response mechanism, which is
reinforced through repetitive practice.

II. Content and Language Integrated Learning:
Students acquire a second or foreign language
while studying curricular subjects or reading or
writing about specific topics.

III. Corpus-based Language Learning: Language
skills are learned more effectively if the items to be
learned in the target language are presented in
spoken form before they are seen in written form.

IV. Communicative Language Teaching: Language is
a system for the expression of meaning, and
learners are encouraged to manage the process 
of negotiating meaning with their interlocutors.

V. The Direct Method: Concrete vocabulary is taught
through demonstration, objects, or pictures, and
grammar is taught inductively.

 In which of the explanations above is there a
mismatch between the method/approach and the
corresponding information?

I and III I and V

II and III II and IV

IV and V

47.

A) B)

C) D)

E)

48.

49.

Diğer sayfaya geçiniz.15

DOĞRU CEVAP: A 
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50. TASK 1: Fill in the blanks based on the grammatical
category of the word.

Adjective  Verb  Noun
productive    produce    ---------
legal             ----------     legality
-----------       persist       persistence

TASK 2: Match the adverbs with the verbs using the
dictionary.

densely        prevented
strictly          populated
effectively    forbidden

TASK 3: Check the dictionary to decide which word is
the odd one out in terms of meaning.

outstanding, exceptional, conventional, unusual 

TASK 4: Read the sentence and find what the
underlined word means.

Slow virus infection is an infection caused by a virus
that remains dormant in the body for a prolonged
period before causing signs and symptoms of illness.

A) unreliable        B) inactive        C) indispensable

Which of the following vocabulary tasks is not
exemplified in the given table?

Using collocational knowledge

Contextual inferencing

Analysing semantic relations

Introducing cognate words

Practising affixation

51.

A)

B)

C)

D)

E)

Diğer sayfaya geçiniz.16

DOĞRU CEVAP: D 
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52. 53.

Diğer sayfaya geçiniz.17
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54.

55.

56.

57.

Diğer sayfaya geçiniz.18
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58.

59.

60.

Diğer sayfaya geçiniz.19
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61.

62.

63.

64.

Diğer sayfaya geçiniz.20
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Content analyses of pragmatic information in business
English textbooks point to some deficiencies. Research
has revealed that the best-selling business textbooks
often feature expressions such as "I disagree with you."
and "That's wrong.", but interestingly enough, these
expressions are entirely absent from a large compilation
of real language used in business meetings. 

 Which of the following could be the most effective
solution for the problem described in the given
excerpt?

Providing a glossary of fundamental lexical items in
the textbook to help students better understand
meaning

Selecting and sequencing textbook content based on
grammatical complexity

Avoiding the use of ambiguous or informal language in
textbooks

Integrating corpus-based data into the textbooks to
provide learners with naturally occurring discourse

Raising students’ awareness of autonomous learning,
independent of the textbook

65.

A)

B)

C)

D)

E)

66.

67.

Diğer sayfaya geçiniz.21

DOĞRU CEVAP: D 
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68.  An EFL teacher brings different short stories to her class
of young learners. Firstly, the learners choose a story
they want to read individually and talk about the reasons
why they have chosen it in small groups. Later, each
learner tells the teacher where the story can take place.

 Which of the following may not be one of the
purposes of this activity?

To help learners personalise an activity and boost their
motivation

To make an activity seem authentic and meaningful for
learners

To inspire learners’ imagination and enhance their
creative thinking skills

To improve students’ oral skills promoting interaction
among them

To incorporate a kinesthetic activity into the class so
that learners can visualise abstract vocabulary

69.

A)

B)

C)

D)

E)

70.

Diğer sayfaya geçiniz.22

DOĞRU CEVAP: E 
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71.

72.

73.

74.

Diğer sayfaya geçiniz.23
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Teacher: 
 What happened?

Student: 
 Kate losed her bag.

Teacher: 
 Excuse me, what did she lose?

Student: 
 She losed her bag.

Teacher: 
 Oh, she lost her bag.

Which types of corrective feedback does the teacher
provide  in the given dialogue?

Explicit correction – Recast

Repetition – Elicitation

Clarification request – Recast

Repetition – Explicit correction

Clarification request – Elicitation

75.

A)

B)

C)

D)

E)

TEST BİTTİ.
CEVAPLARINIZI KONTROL EDİNİZ.24

DOĞRU CEVAP: C 




